






ROUTE NO.

*

SEC

*

COUNTY

ILLINOIS PROJECT

SHEETTOTAL

14

NO.

4

SHEET NO. 2

CHECKED

CHECKED

DESIGNED

DRAWN

SHEETS

HUTCHISON ENGINEERING, INC.

JACKSONVILLE, ILLINOIS

JOH

BAN

BAN

MORGAN

FED. ROAD DIST. NO. 7

Rev: Date: 

  Reinforcement bars shall conform to the requirements of ASTM A 706

Gr 60 (IL Modified). See Special Provisions.

  Plan dimensions and details relative to existing plans are subject to routine

variations.  The Contractor shall field verify existing dimensions and details

affecting new construction and make necessary approved adjustments prior to

construction or ordering of materials.  Such variations shall not be cause for

additional compensation for a change in scope of the work, however, the

Contractor will be paid for the quantity actually furnished based upon the unit

price bid for the work.

No in-stream work will be allowed on this project.

  The Contractor is advised that the existing PPC Deck Beams are in a deteriorated

condition with reduced load carrying capacity. It is the Contractor’s responsibility

to account for the condition of the beams when developing construction procedures

for removal and replacement of the superstructure.

See Std. 515001

NAME PLATE

TOTAL BILL OF MATERIAL

Item Unit Total

Sq. Ft.

GENERAL NOTES

12 SHEETS

CONTRACT NO. 72B49

  Repair of the substructure shall be completed prior to placement of the new deck beams.

Attach new name plate to back

side of 8" rail element. Clean

and re-locate existing name plate

adjacent to new name plate. Cost

included in the cost of "Name

Plates".

FAP

614

TC/TD

STATION 16+34.85

REBUILT 200  BY

STATE OF ILLINOIS

F.A.P. 614 SEC. 148BR-2

 LOADING HS20

STRUCTURE NO. 069-0005

6,627

  Reinforcement bars designated (E) shall be epoxy coated.

  Protective Coat shall not be applied to surfaces to which a Waterproofing 

Membrane System is applied.

   The top surface of the beams shall be finished in accordance with

Article 504.06 of the Standard Specifications except that the surface shall

not be roughened by brooming.  The finished surface shall be free of

depressions or high spots with sharp corners, and the top edge of keys

shall be rounded or chamfered a minimum of  1/4 ".

148(BR-2)F

Furnishing Precast Prestressed Concrete

Deck Beams (21" Depth)

GENERAL NOTES &

BILL OF MATERIAL

ILLINOIS ROUTE 78 OVER

MAUVAISE TERRE CREEK

F.A.P. 614 SEC. 148(BR-2)F

MORGAN COUNTY

STATION 16+34.85

STR. NO. 069-0005

  If the Contractor’s procedure for existing beam removal or placement of new

beams involves placement of heavy equipment on the new or existing deck beams,

a detailed procedure shall be submitted to the Engineer for approval. The procedure

shall include calculations, sealed by an Illinois Licensed Structural Engineer,

verifying the structural adequacy of the beams for the proposed loads.  Cost

included with Removal of Existing Superstructures.



HUTCHISON ENGINEERING, INC.

JACKSONVILLE, ILLINOIS
Rev: Date: 

SUPERSTRUCTURE DETAILS

1 
1/

2 
’’

c
l.

Omit key on exterior

face of outside beams.

4-#5 B bars

Full length of beam

8 x 3-W2.5 x W5.5 Wire

Fabric W2.5 longitudinal

Full length of beam

except at U bars
1 3/4 ’’

cl.

1

 3/8 ’’

 3/4 ’’

 3/4 ’’ Chamfer

EXPANSION

TYPICAL SECTION

10 1/4 ’’

36’’

15 1/2 ’’ 10 1/4 ’’

3
’’

4
’’

2 1/4 ’’ Standard Grid Pattern 2 1/4 ’’

1 
3/

4 
’’

3 
1/

4 
’’

1 
1/

2 
’’

2’-7’’

~ Key

9
’’

(Interior)

1’-3 1/2 ’’

9
’’

(Exterior)

ROUTE NO.

*

SEC

*

COUNTY

ILLINOIS PROJECT

SHEETTOTAL

14

NO.

5

SHEET NO. 3

SHEETS

MORGAN

FED. ROAD DIST. NO. 7

2
1

"

10
 1

/2
 "

12
 1

/2
 "
 D

ia
.

12
 1

/2
 ’’

 D
ia

.

CHECKED

CHECKED

DESIGNED

DRAWN

JOH

BAN

BAN

2’-0"

3’’ } Holes

PD-3-S
LIFTING LOOP DETAIL

11-1-06

Note:

  Place strands symmetrically

about ~ of beam.

Lifting loops

2 each end

 1/4 ’’ } Vent Holes Top

 3/4 ’’ } Drain Holes Bott.

3’’ } Holes for

transverse tie

assemblies

2’’ } Holes for

Dowel Rods

Fixed Ends Only

8 x 3-W2.5 x W5.5

Wire Fabric, W5.5 vert.

Full depth of beam.

Each End. 1 1/2 ’’

cl.

3-#4 U bars

Each Side

45^ min. 

angle of lift

3’’ Radius

(Cold bent)

Top of

Beam

Exterior Brg.

Pad, typ.

Grouted Key

FIXED

PLAN

END PLAN

BAR U

TYPICAL TRANSVERSE TIE ASSEMBLY

NOTES

HALF CROSS SECTION

Interior Brg. Pad, typ.

4
’’

1
4

’’

1
8

’’

6’’ 6’’

5’’

5’’

10’’

3
’
-
0
’
’

1
’-

0
"

7’’

6’’

6
’’

6
’’

 1
/4

 ’’

3’’

4 
1/

2 
’’

9
’’

 1
/2

 ’’

3’’ } Opening

~ Key

2’-7"

3 1/2 ’’3 1/2 ’’
4 

1/
2 

’’

9
’’

4 
1/

2 
’’

(Interior)

1’-3 1/2 ’’

3 1/2 ’’

4 
1/

2 
’’

9
’’

4 
1/

2 
’’

3’’ } Hole

(Exterior)

2’-3’’ O. to O.

BILL OF MATERIAL

Sq. Ft.

4" 16’-2"

11 - Precast Prestressed Concrete Deck Beams at 3’-0’’ = 33’-0"

40 Req’d. 8 Req’d.

1
’-

6
"

2’-0" 22’-10"

50’-6 1/8 "

P.G.

~ Symm.

about ~ Rdwy.

1
’-

0
"

8 Strands

4 Strands

12 SHEETS

CONTRACT NO. 72B49

  Prestressing steel shall be uncoated high strength, low relaxation 7-wire strand, Grade 270.

  The nominal diameter shall be  1/2 ’’ and the nominal cross-sectional area shall be 0.153 sq. in.

  Lifting loops shall be 2 - 1/2 ’’ }-270 ksi strands, as shown.

  The 1’’ } rods in the transverse tie assembly shall be tightened to a snug fit and the threads

set. Pockets that receive transverse tie bar on outside shall be filled with grout after transverse tie

assembly is in place.

  Non prestressing steel shall conform to ASTM A 706 (IL MOD), Grade 60.

  The bearing seat surfaces shall be adjusted by shimming to assure firm and even bearing. Two

 1/8 ’’ fabric adjusting shims of the dimensions of the Exterior Bearing Pad shall be provided for each

bearing.

  Keyway surfaces shall be cleaned to remove form oil or other bond breaking material prior to

shipment of the beams. Cleaning shall be done by sandblasting the keyway areas between top of the

beam and the bottom edge of the key.

  Corrosion Inhibitor, per Article 1020.05(b)(12) of the Standard Specifications, shall be used in the

concrete for precast prestressed concrete deck beams.

  Required Release Strength, f’ci, shall be 4,000 p.s.i.

  Rail post anchor devices shall be cast into outside face of exterior beams as specified elsewhere.

1
’-

0
"

1
’-

0
"

2’-0 1/4 " 21’-8"22’-6"

49’-10 5/8 "

Spans 1 & 4

Spans 2 & 3

Spans 1 & 4

Spans 2 & 3

1’-0"

1’-0"

FAP

614

TC/TD

80 Req’d. 16 Req’d.

Steel Railing,

Type SM, See

sheet 4 of 12.

1.5%

2-#5 B  bars, 

Each End (10’-2" long)

6,627

Unit QuantityItem

4’’ x 4’’ x  1/2 ’’ ‘

Washer - 8 required

Full Thread Sleeve

3’’ long - 40 required

Nut for 1’’ }

Rod - 8 required

1’’ } x 2’-11’’ Rods

(Thread each end 4’’)

- 44 required

 1/2 " FABRIC BEARING PAD  1/2 " FABRIC BEARING PAD

 1/4 " FABRIC BEARING PAD  1/4 " FABRIC BEARING PAD

For Rail Spacing see sheet 5 of 12

Top of beam

 12- 1/2 ’’ } Strands, Each Strand Stressed to 30,900 Lbs.

4-Strands 1 3/4 ’’ up, 8-Strands 3 1/4 ’’ up.

(Fixed End)

22’-0" 2’-10 1/8 "

2’-10 3/8 "

1’-10"

6
"

6
"

BAR U

9
"

2’-3’’

2

6"

BAR E

10"

9
"

1 
1/

2 
"

c
l.

2"

cl.

1 1/2 "

cl.

2"

2
"

4 
1/

2 
"

3-#5 bars placed in field.

Full width of deck.

B or B bars1

8 x 3-W2.5 x W5.5

Wire fabric, 1 1/2 " cl.

(W5.5 vertical)

22 Pair-#4 U  bars

END OF BEAM (EXP. END)

1
’-

6
"

2 Pair-#4 U bars

9
"

BAR E

2’-0"

2

3-#5 E bars at 12"

cts.  Space to miss

Flared Coil Loops.

3-#4 E  bars

at 12" cts.
2

FIXED END EXPANSION END

HMA wearing

surface w/ WMS

148(BR-2)F

ILLINOIS ROUTE 78 OVER

MAUVAISE TERRE CREEK

F.A.P. 614 SEC. 148(BR-2)F

MORGAN COUNTY

STATION 16+34.85

STR. NO. 069-0005

Furnishing Precast

Prestressed Conc.

Deck Bms. (21" Depth)

~   3/4 " x 6" Flared coil loops

&   3/4 " } x 6" coil rod at 6"

cts.  (Cost included with

Furnishing Precast Prestressed

Concrete Deck Beams.)

  Furnishing rebar in blockout shall be included in

the cost of PPC Deck Beams.



HUTCHISON ENGINEERING, INC.

JACKSONVILLE, ILLINOIS
Rev: Date: 

CHECKED

CHECKED

DESIGNED

DRAWN

JOH

BAN

BAN

*

SEC

*

COUNTY

ILLINOIS PROJECT

SHEETTOTAL

14

NO.

6

SHEET NO. 4

SHEETS

MORGAN

FED. ROAD DIST. NO. 7

12 SHEETS

CONTRACT NO. 72B49

FOR RAIL POST SPACING SEE SH.#5 OF 12

TC/TD

A

A

11-1-06

BILL OF MATERIAL

DETAIL OF  3/4 ’’ } ROUND HEAD BOLT

VIEW A-A

Unit QuantityItem

Foot

VIEW D-D

 3/8 ’’ As Required

 1/8 ’’ max.

 3
/4

 ’
’

| 1/8 ’’1 
1/

2 
’’

1 1/2 ’’

| 1
/8

 ’
’

1 1/2 ’’

| 1
/8

 ’
’

Locknut
With Slot

2’’ 4’’ 4’’ 4’’ 4’’ 2’’ 
Locknut

1’-8’’ 

1’-7’’

 3/4 ’’

5 3/4 ’’

3’’ 2’’

3 3/4 ’’

2’’ 1 3/4 ’’ 1 3/4 ’’

1
’’

3 3/4 ’’

2’’ 2’’

5 3/4 ’’

3’’  3/4 ’’

~ Post

3
’’

30^

Hollow structural

section 

 11/16 " } holes

in  3/8 " ‘

2
 1

/2
 ’

’ 
T

o
p

 R
a
il

2
 3

/8
 "

 B
o

tt
. 

R
a
il

RAIL SPLICE CONNECTION

AT EXPANSION JT.

PLAN-BOTT. SPLICE ‘

TYPICAL

SECTION B-B

~ Slotted holes

W6x25

 13/16 " x 5 1/2 " slotted

hole in post

 13/16 " } holes

in angles

2- 5/8 " } x 5 3/4 " cap

screws with flat washer

SECTION AT RAIL POST

4- 3/4 " } x 6" Round Head Bolts

(With slot or approved recess in

head) with locknut & flat washer.

 7/8 " } holes in hollow structural

section may be drilled in the field.

1 3/4 ’’

3 1/2 ’’
1 

1/
2 

’’
4
’’

1
1
’’

1
0
’’

3
’’

3 3/4 ’’ 3 3/4 ’’

 13/16 ’’ x 3’’ Slotted holes

3 1/2 ’’

C C

L 6 x 4 x  3/4 

2
’
-
8

’
’

1
’-

0
’’

6
’’

6
’’

8
’’

2
’’

4
’’

2
’’

3
’’

3
’’

4’’

Varies

1
0
’’

3
’’

Top of beam

 1
/2

 ’’
1 

3/
4 

’’
1 

3/
4 

’’
2 

1/
2 

’’

2 1/2 ’’

2- 1" } x 7 3/4 " AASHTO

M-164 anchor bolts with

flat washer and lockwasher

B

B

3
’’

3
’’

(6’-3’’ Maximum Post Spacing)  (1 1/4 ’’ minimum to 3 1/8 ’’ maximum HMA thickness)

1
’-

8
’’

HMA varies

E

E

D D

#3

bar

VIEW E-E

 1 1/4 ’’

END OF RAIL DETAILS

ANCHOR DEVICE

9 1/2 ’’ 

3 3/4 ’’ 1 3/4 ’’ 2’’ 

~ Post

2’’ 3’’  3/4 ’’ 

Typ.

3" 1’-2 1/2 "
~ 1" } holes

2
"

1 3/4 ’’ 

1’’ 

4’’

2
’’

8
’’

4
’’

2
’’

6
’’

 1
 3

/4
 ’

’

1 
1/

2 
’’

 

 1/2 ’’ x 1 1/2 ’’ x 6’’ Bar
6’’ 

1 3/4 ’’ 1 3/4 ’’ 

 3
/4

 ’
’ 

 3
/4

 ’
’ 

*

*

‘ 1’’ x 6’’ x 19’’ 

1 1/8 ’’ } Hole

3
’
’
 

3
’
’
 

1
0
’’

 

*

1’’ 

1’’ 2’’  1/2 ’’  1/4  

3
’
’
 

2 
1/

2 
’’

6
’’

 1
 3

/4
 ’

’

  3/4 ’’ }

 drain hole

  3/4 ’’ }

 drain hole

Roadway 

Side 
2 

1/
2 

’’
2 

1/
2 

’’

5
’’

11 1/2 ’’

2’’ 2’’7 1/2 ’’

2 3/4 ’’ 2 3/4 ’’6’’

4
’’

 1
/2

 ’’
 1

/2
 ’’

3
’’

3
’’

6
’’

1 
1/

2 
’’

1 
1/

2 
’’

3
’’

7’’

1 3/4 ’’ 1 3/4 ’’3 1/2 ’’

6’’ 1/2 ’’  1/2 ’’

1 1/8 ’’ } holes

 11/16 ’’  }

holes

‘  1/2 ’’ x 11 1/2 ’’ x 5’’

‘  1/2 ’’ x 7’’ x 6’’

Grind  5/16 ’’ Chamfer

W6x25

SECTION C-C

‘ 1’’ x 6’’ x 19’’ 
3 3/4 ’’ 3 3/4 ’’

3’’ 3’’

3 
1/

2 
’’

2 
1/

2 
’’

1 1/8 ’’ } Holes in

angles and plate

‘  1/2 ’’ x 11 1/2 ’’ x 5’’ 

2- 13/16 ’’ Holes in angles

1- 13/16 ’’ x 5 1/2 ’’ Slotted

hole in post

Locknut

‘  3/8 ’’ x 6 7/8 ’’ x 1’-8’’ 

Each side, top rail

‘  3/8 ’’ x 4 7/8 ’’ x 1’-8’’

Each side, bottom rail

SECTION AT

RAIL SPLICE

Typ.

‘  1/2 ’’ x 7’’ x 6’’

 1/8 ’’ x 7’’ x 6’’ Fabric bearing pad

‘  3/16 ’’ x 3 1/2 ’’ x 7 1/2 ’’ 

‘  3/16 ’’ x 3 1/2 ’’ x 5 1/2 ’’ 

**

**

~ - 5/8 ’’ reduced base welded studs.  Provide 4 -

 5/8 ’’ washers and self-locking nuts or nuts and

jam nuts for guardrail connection shown on

Std. 631032 

Without Slot

or Recess

1 1/8 ’’ x 2 1/2 ’’ Slotted

Holes in hollow

structural section

 1/4 ’’ at rail splice

1 1/2 ’’ at exp. jt. at 50^ F.

~ 1 1/8 ’’ }

Holes

Threaded areas shall be plugged or blocked off during

casting of beam.  Galvanized after fabrication.

1’’ H.S. Nut AASHTO M 164

welded to ‘

Cast 1’’ voids behind

each nut

 3/4 ’’ } x 6’’ Granular or solid flux

filled headed studs conforming to

article 1006.32 of the Std. Specs.

automatically end welded.

(6 Required per ‘)

 3/4 ’’ } XXS Pipe or Hex Coupler Nuts

conforming to AASHTO M291, Grade 

A - 3’’ long welded to #3 bar and 

Tap pipe for  5/8 ’’ } Cap Screw.

{ 6 x 4 x  3/4  x

6’’ long

‘  3/8 ’’ x 2 1/2 ’’ x 1’-8’’ 

Top & Bottom

 5/8 ’’ } x 1 3/4 ’’ Cap Screw

with flat washer

 3/4 ’’ } Holes in

tubing

Steel Railing, Type SM

 7/8 ’’ } Holes

in post

1 1/8 ’’ } Holes

in angles 2- 3/4 ’’ } x 3 1/4 ’’ H.S.

bolts with hex nut &

flat washers

‘  1/2 ’’ x 11 1/2 ’’

x 5’’

Whenever the lower insert assemblies interfere with

strand locations, the #3 bars shall be cut and adjusted

in order to allow raising or lowering of the lower

inserts.  Maximum adjustment not to exceed  1/2 ’’.R-34HMAWS

HSS 6 x 4 x  1/4 

x 3 1/2 ’’ long

HMA wearing

surface

HSS 6 x 4 x  1/4 

x 3 1/2 ’’ long

HSS 6 x 3 x  1/4 x 3 3/8 ’’ long

HSS 6 x 4 x  1/4 

x 3 1/2 ’’ long

 3/16 

HSS 6 x 3 x  1/4 

x 3 3/8 ’’ long

 3/16 

 3/16 

 3/16 

 3/16 

 3/16 

 3/16 

 3/16 

HSS 8 x 4 x  5/16 

HSS 6 x 4 x  1/4 

 5/8 ’’ } x 1 3/4 ’’ Cap Screw

with flat washer &  3/4 ’’ }

XS pipe spacer,  1/2 ’’ long.

***

Notes:

  All field drilled holes shall be coated with an approved zinc rich

paint before erection.

  For multi-span bridges, sufficient  1/4 ’’ x 6’’ x 1’-2’’ galvanized 

steel shims shall be provided to align rail between adjacent spans.  

Cost included with Steel Bridge Rail, Type SM.

  All steel rail members shall be galvanized according to Article

509.05 of the Standard Specifications.

  The studs of the anchor devices shall be placed below the top

reinforcement bars and the outermost longitudinal reinforcement

bar shall be placed directly above the studs of the rail post

anchor device.

***

405

STEEL RAILING, TYPE SM

WITH HOT-MIX ASPHALT SURFACE

ROUTE NO.

FAP

614

148(BR-2)F

ILLINOIS ROUTE 78 OVER

MAUVAISE TERRE CREEK

F.A.P  614 SEC. 148(BR-2)F

MORGAN COUNTY

STATION 16+34.85 

STR. NO. 069-0005

THIS SHEET IS FOR

INFORMATION ONLY



HUTCHISON ENGINEERING, INC.

JACKSONVILLE, ILLINOIS
Rev: Date: 

CHECKED

CHECKED

DESIGNED

DRAWN

JOH

BAN

BAN

ROUTE NO.

*

SEC

*

COUNTY

ILLINOIS PROJECT

SHEETTOTAL

14

NO.

7

SHEET NO. 5

SHEETS

MORGAN

FED. ROAD DIST. NO. 7

CONTRACT NO. 72B49

12 SHEETS

RAIL POST SPACING

1"

~ Pier 3~ Pier 2~ Pier 1

3’-1 1/2 "3’-1 1/2 " 3’-1 1/2 " 3’-1 1/2 " 3’-1 1/2 " 3’-1 1/2 " 7 Rail Post Spaces at

6’-3" = 43’-9"

 7 Rail Post Spaces at

6’-3" = 43’-9"

202’-6" End to End Rail

End of

Beams

End of

Beams
1 3/4 "

Traffic Barrier,

Type 6A

See Std.

631032

Traffic Barrier,

Type 6A

See Std.

631032

FAP

614

TC/TD

8"

Bk of Abut.

 7/8 "

 7/8 " 1/2 "

 1/2 " 7/8 "

 7/8 "

1 3/4 "

8"

Bk of Abut.

~ Brg. N. Abut.

1
’-

3
’’

7’’

SECTION THRU ABUTMENT

 1/2 ’’ PJF

Full width

1’’ } x 2’-6’’ Dowel Rods

in 1 1/2 ’’ } holes drilled in cap

(2 Each Beam)

*1’’

7’’ 7’’

7 1/2 ’’7 1/2 ’’

1
’-

3
’’

~ Pier

1’’ } x 2’-6’’ Dowel rods

in 1 1/2 ’’ } holes drilled in cap

(2 each beam) 1/2 ’’ x 6’’ PJF

Full width

*

~ Brg.

S. Abut.

8"

Bk. of

Abut.

~ Brg.

SECTION THRU FIXED PIER 2

~ Pier

1 3/4 " @ 50^

7’’7’’

~ Brg.

SECTION THRU EXP. PIERS 1 & 3

201’-2" End to End Wearing Surface

~ Span 1 ~ Span 2 ~ Span 3 ~ Span 4

~ Pier

#1

~ Pier

#2

~ Pier

#3

Fabric bearing pad

2- 9’’ x  1/4 "

Fabric bearing pad

9’’ x  1/2 ’’

Approach

Slab

Fabric bearing pad

9’’ x  1/2 ’’

1’’ Jt. shall be filled with non-shrink grout. 1’’ dimension

may vary to accommodate tolerance in beam lengths.

Expansion Joint

See sheet 12 of 12

2
1
"
 P

P
C

D
k
, 
B

m
s
.

2
1
"
 P

P
C

D
k
, 
B

m
s
.

2
1
"
 P

P
C

D
k
, 
B

m
s
.

2
1
"
 P

P
C

D
k
, 
B

m
s
.

2
1
"
 P

P
C

D
k
, 
B

m
s
.

1’-3"

Hot-Mix Asphalt

Wearing Surface

Hot-Mix Asphalt

Wearing Surface
Hot-Mix Asphalt

Wearing Surface

HOT-MIX ASPHALT WEARING SURFACE PROFILE

(Includes Waterproofing Membrane System)

Notes :

  Existing dowel rods shall be burned off flush with top

of existing concrete, ground smooth and sealed with epoxy.

Cost included in cost of removal of existing superstructures.

After beams have been erected, holes shall be drilled into

substructure and anchor dowels placed.  Dowel holes shall

be filled with non-shrink grout to top of beam and allowed

to cure min. 24 hrs. prior to grouting the shear keys.

  All horizontal dimensions are at right angles to beam ends.

  See sheet 3 of 12 for bearing pad details.

  Hatched areas to be poured after beams have been erected

and joints grouted.  Ends of beams shall be aligned at the

expansion joints.  Any lineal variation in beam lengths shall

be placed at the fixed joint.

RAIL POST SPACING,

HMA WS PROFILE & 

SUBSTRUCTURE SECTIONS

 9 Rail Post Spaces at

5’-1 1/2 " = 46’-1 1/2 "

1’-4"  9 Rail Post Spaces at

5’-1 1/2 " = 46’-1 1/2 "

1’-4" 

3
"

2
"

m
in

.

3
"

2
"

m
in

.

3
"

2
"

m
in

.

3
"

2
"

m
in

.

3
"

148(BR-2)F

ILLINOIS ROUTE 78 OVER

MAUVAISE TERRE CREEK

F.A.P. 614 SEC. 148(BR-2)F

MORGAN COUNTY

STATION 16+34.85

STR. NO. 069-0005

THIS SHEET IS FOR

INFORMATION ONLY



CHECKED

CHECKED

DESIGNED

DRAWN

JOH

BAN

BAN

1
’-

3
’’

7’’

SECTION A-A

Approach

Pavement

* 1’’ } x 2’-6’’

Dowel Rods

in 1 1/2 ’’ } holes

drilled in cap

(2 Each Beam)

2
1

"
 P

P
C

D
e
c
k
 B

e
a
m

ShapeLengthSizeNo.Bar

50 #5

Concrete Removal Cu. Yd.

Reinforcement Bars,

Epoxy Coated

0.8

190

v(E) 3’-7"

BILL OF MATERIAL

TWO ABUTMENTS

HUTCHISON ENGINEERING, INC.

JACKSONVILLE, ILLINOIS
Rev: Date: 

ROUTE NO.

*

SEC

*

COUNTY

ILLINOIS PROJECT

SHEETTOTAL

14

NO.

8

SHEET NO. 6

SHEETS

MORGAN

FED. ROAD DIST. NO. 7

12 SHEETS

CONTRACT NO. 72B49

ABUTMENTS

(Proposed)

Clean and incorporate existing

vertical bars into new construction

2’-6"

2’-6"

SECTION A-A

(Existing)

Concrete

Removal

Bk. of

Abutment

8"

1
’-

3
’’

7’’

SECTION B-B

* 1’’ } x 2’-6’’

Dowel Rods

in 1 1/2 ’’ } holes

drilled in cap

(2 Each Beam)

2
1

"
 P

P
C

D
e
c
k
 B

e
a
m

v(E)

2’-6"

9
"

m
in

.

New Approach

Pavement

8"

2
’
-
4

"

1’-3"

BAR v(E)

~ Rdwy.

2
’
-
6
"

1
’-

3
"

1
’-

3
"

A

A

B

B

Proposed

Dowel Rod

Location

1
’-

1
0
"

8
"

End of

Deck Beams

Bk. Existing

AbutmentConcrete

Removal

PLAN - ABUTMENTS

~ Abut. &

~ Brg.

FAP

614

TC/TD

9"x  1/2 "x 1’-3 1/2 "

Fabric Bearing Pad

(Typ. at outside beam)

***25 - #5 v(E) bars @ 12" cts

  Epoxy grout bars v(E)

in 9" min. drilled holes

according to Section 584

of the Standard Specifications.

  

***

9"x  1/2 " Fabric Bearing Pad

***

4"

9"x  1/2 " Fabric Bearing Pad

**

* Existing Dowel Rods shall be burned off flush with the top of existing

concrete, ground smooth, and sealed with epoxy.  Cost to be included

in the cost of Removal of Existing Superstructures.  After beams have been

erected, holes shall be drilled into substructure and anchor dowels placed. 

Dowel holes shall be filled with non-shrink grout to top of beam and allowed

to cure min. 24 hrs. prior to grouting the shear keys.

**Existing reinforcement bars extending into new construction shall be

cleaned, straightened and incorporated into the new construction.

Cost to be included with Concrete Removal.

Concrete

Removal

Concrete Removal

Pavement

Removal

(See Rdwy

Plans)

** Clean and Incorporate

   Existing Horizontal Bars Into

   New Construction. Cutoff

   bars as shown. (Typ.)

Lbs.

Asphalt

Surface

HMA Wearing

Surface
HMA Wearing

Surface

9"x  1/2 "x 2’-7"

Fabric Bearing Pad

(Typ. at interior beam)

148(BR-2)F

ILLINOIS ROUTE 78 OVER

MAUVAISE TERRE CREEK

F.A.P. 614 SEC. 148(BR-2)F

MORGAN COUNTY

STATION 16+34.85

STR. NO. 069-0005

THIS SHEET IS FOR

INFORMATION ONLY



HUTCHISON ENGINEERING, INC.

JACKSONVILLE, ILLINOIS
Rev: Date: 

CHECKED

CHECKED

DESIGNED

DRAWN

JOH

BAN

BAN

LEGEND

ROUTE NO.

*

SEC

*

COUNTY

ILLINOIS PROJECT

SHEETTOTAL

14

NO.

9

SHEET NO. 7

SHEETS

MORGAN

FED. ROAD DIST. NO. 7

12 SHEETS

CONTRACT NO. 72B49

ELEVATION

SOUTH FACE

(Looking North)

~ Rdwy.

PIER 1 REPAIRS

FAP

614

TC/TD

Sq. Ft. 9

Structure Repair of

Concrete (Depth equal

to or less than 5")

Structure Repair of Concrete

(Depth equal to or less than 5")

BILL OF MATERIAL

Unit QuantityItem

ELEVATION

NORTH FACE

(Looking South)

~ Rdwy.

~ Rdwy.

PLAN

4 Sq. Ft.

4 Sq. Ft.

1 Sq. Ft.

N

148(BR-2)F

ILLINOIS ROUTE 78 OVER

MAUVAISE TERRE CREEK

F.A.P. 614 SEC. 148(BR-2)F

MORGAN COUNTY

STATION 16+34.85

STR. NO. 069-0005

THIS SHEET IS FOR

INFORMATION ONLY



HUTCHISON ENGINEERING, INC.

JACKSONVILLE, ILLINOIS
Rev: Date: 

CHECKED

CHECKED

DESIGNED

DRAWN

JOH

BAN

BAN

LEGEND

ROUTE NO.

*

SEC

*

COUNTY

ILLINOIS PROJECT

SHEETTOTAL

14

NO.

10

SHEET NO. 8

SHEETS

MORGAN

FED. ROAD DIST. NO. 7

12 SHEETS

CONTRACT NO. 72B49

ELEVATION

SOUTH FACE

(Looking North)

~ Rdwy.

PIER 2 REPAIRS

FAP

614

TC/TD

Sq. Ft. 44

Structure Repair of

Concrete (Depth equal

to or less than 5")

BILL OF MATERIAL

Unit QuantityItem

ELEVATION

NORTH FACE

(Looking South)

~ Rdwy.

~ Rdwy.

PLAN

2 Sq. Ft.

N

Structure Repair of Concrete

(Depth equal to or less than 5")

Structure Repair of Concrete

(Depth greater than 5")

Sq. Ft.

Structure Repair of

Concrete (Depth

greater than 5")

5 Sq. Ft. 2 Sq. Ft.

5 Sq. Ft.
2 Sq. Ft.

2 Sq. Ft. 5 Sq. Ft. 2 Sq. Ft.

16 Sq. Ft.

5 Sq. Ft.2 Sq. Ft.

12 Sq. Ft.

8 Sq. Ft.

24

148(BR-2)F

ILLINOIS ROUTE 78 OVER

MAUVAISE TERRE CREEK

F.A.P. 614 SEC. 148(BR-2)F

MORGAN COUNTY

STATION 16+34.85

STR. NO. 069-0005

THIS SHEET IS FOR

INFORMATION ONLY



HUTCHISON ENGINEERING, INC.

JACKSONVILLE, ILLINOIS
Rev: Date: 

CHECKED

CHECKED

DESIGNED

DRAWN

JOH

BAN

BAN

LEGEND

ROUTE NO.

*

SEC

*

COUNTY

ILLINOIS PROJECT

SHEETTOTAL

14

NO.

11

SHEET NO. 9

SHEETS

MORGAN

FED. ROAD DIST. NO. 7

12 SHEETS

CONTRACT NO. 72B49

ELEVATION

SOUTH FACE

(Looking North)

~ Rdwy.

PIER 3 REPAIRS

FAP

614

TC/TD

Sq. Ft. 5

Structure Repair of

Concrete (Depth equal

to or less than 5")

BILL OF MATERIAL

Unit QuantityItem

ELEVATION

NORTH FACE

(Looking South)

~ Rdwy.

~ Rdwy.

PLAN

N

2 Sq. Ft.

3 Sq. Ft.

Structure Repair of Concrete

(Depth equal to or less than 5")

148(BR-2)F

ILLINOIS ROUTE 78 OVER

MAUVAISE TERRE CREEK

F.A.P. 614 SEC. 148(BR-2)F

MORGAN COUNTY

STATION 16+34.85

STR. NO. 069-0005

THIS SHEET IS FOR

INFORMATION ONLY



HUTCHISON ENGINEERING, INC.

JACKSONVILLE, ILLINOIS
Rev: Date: 

CHECKED

CHECKED

DESIGNED

DRAWN

JOH

BAN

BAN

ROUTE NO.

*

SEC

*

COUNTY

ILLINOIS PROJECT

SHEETTOTAL

14

NO.

12

SHEET NO. 10

SHEETS

MORGAN

FED. ROAD DIST. NO. 7

CONTRACT NO. 72B49

12 SHEETS

PIERS 1 & 3

3 3/4 "

4"

Min.

4"

6"

2 1/4 "

End of Beam

Retainer angle

{8x6x 1/2 with

 1/2 " stiffener ‘’s

*~ 1"} x 12" galv.

anchor bolt with

2 1/2 " x 2 1/2 " x  5/16 " ‘

washer under nut.
6"

~ Rdwy.

~ Brg.

Note "A" Note "B"

~ Pier

2
’
-
6
"

1
’-

3
"

1
’-

3
"

PLAN - PIER 3

Permanent Retainer

~ Brg.

Note "B"

2
’
-
6
"

1
’-

3
"

1
’-

3
"

~ Pier

Note "A"

~ Rdwy.

PLAN - PIER 1

Provide steel wedge between

new beam and existing

pier if required

Existing

Railroad

Pier

Note "A":

Note "B": Fabric Bearing Pad (2) 9"x  1/4 "x 2’-7".

Typical at each interior beam except as noted.

N

PLAN

Permanent Retainer

(Shift retainer to the south

if necessary to clear the

existing railroad pier)

ELEVATION

RETAINER ANGLE DETAIL

Permanent Retainer

Permanent Retainer

1 
3/

4 
"

J
t.

J
t.

FAP
614

Min.

~ 1 1/4 "} Holes

TC/TD

8 
1/

2 
"

8 
1/

2 
"

1 
3/

4 
"

8 
1/

2 
"

8 
1/

2 
"

Fabric Bearing Pad (2) 9"x  1/4 " x 1’-3 1/2 "

Typical at each outside beam.

*Anchor bolts or approved threaded rod may

be placed in drilled holes and grouted in place.

Steel wedges, Remove

after HMA Surface 

has been placed.

148(BR-2)F

ILLINOIS ROUTE 78 OVER

MAUVAISE TERRE CREEK

F.A.P. 614 SEC. 148(BR-2)F

MORGAN COUNTY

STATION 16+34.85

STR. NO. 069-0005

THIS SHEET IS FOR

INFORMATION ONLY

Notes:

    The permanent retainers and hardware

  shall be galvanized after shop fabrication

  accordance to AASHTO M111 ASTM 385.

    Anchor bolts shall be ASTM F1554 all-

  thread (or an Engineer-approved alternate

  material) of the grade(s) and diameter(s)

  specified.  ASTM A307 Grade C anchor

  bolts may be used in lieu of ASTM F1554

  Grade 36 (Fy=36ksi).  The corresponding

  specified grade of AASHTO M314 anchor

  bolts may be used in lieu of ASTM F1554.

    Drilled and set anchor bolts shall be

  installed according to Article 521.06 of

  the Standard Specifications.

    Cost of retainers, accessories, and

  galvanizing are included with Furnishing

  Precast Prestressed Concrete Deck Beams.



HUTCHISON ENGINEERING, INC.

JACKSONVILLE, ILLINOIS
Rev: Date: 

CHECKED

CHECKED

DESIGNED

DRAWN

JOH

BAN

BAN

ROUTE NO.

*

SEC

*

COUNTY

ILLINOIS PROJECT

SHEETTOTAL

14

NO.

13

SHEET NO. 11

SHEETS

MORGAN

FED. ROAD DIST. NO. 7

CONTRACT NO. 72B49

12 SHEETS

~ Rdwy.

~ Brg.

2
’
-
6

"

1
’-

3
"

J
o
in

t

1
’-

3
"

PLAN - PIER 2

1
"

9"x  1/2 "x 1’-3 1/2 "

Fabric Bearing Pad

(Typ. at outside beam)

~ Existing Pier

~ Existing Pier

PLAN - EXISTING BEAMS

AT PIER 2

Cut-off existing dowel rods flush with

the top of existing concrete. Grind

existing dowel smooth and seal with

epoxy. Cost shall be included with

Removal of Existing Superstructure.

(Typ. Each Beam)

37’-6" 18’-3"

~ Brg.

N

PIER 2

3’-0"

Beam

9"x  1/2 "x 2’-7"

Fabric Bearing Pad

(Typ. at interior beam)

FAP

614

TC/TD

148(BR-2)F

ILLINOIS ROUTE 78 OVER

MAUVAISE TERRE CREEK

F.A.P. 614 SEC. 148(BR-2)F

MORGAN COUNTY

STATION 16+34.85

STR. NO. 069-0005

THIS SHEET IS FOR

INFORMATION ONLY



ROUTE NO.

*

SEC

*

COUNTY

ILLINOIS PROJECT

SHEETTOTAL

14

NO.

14

SHEET NO. 12

SHEETS

HUTCHISON ENGINEERING, INC.

JACKSONVILLE, ILLINOIS

MORGAN

FED. ROAD DIST. NO. 7

Rev: Date: 

CHECKED

CHECKED

DESIGNED

DRAWN

JOH

BAN

BAN

CONTRACT NO. 72B49

PREFORMED JOINT DETAIL

12 SHEETS

TC/TD

FAP

614

 3/32 ’’

PREFORMED JOINT SEAL

BILL OF MATERIAL

2 1/2 ’’ 

 3/16 ’’ 

(2 1/2 ’’)

2
 1

/2
 ’

’ 
m

in
. 

Item Unit Total

footPreformed Joint Seal 2 1/2 " 66

 7/16 ’’ } Holes at 12’’cts. for 

 3/8 ’’ } bolts. All bolts shall be

burned, sawed or chipped off

flush with the plates

after forms are removed.

Preformed Jt. Seal (2 1/2 ’’)

*

3 
1/

4 
’’

7 
1/

4 
’’

2
’’

2
’’

*

**

1 3/4 ’’ at

50^ F.

‘ 1’’ x 10" x 33’ long

Fabricate to crown

 1/2 ’’ x  1/2 ’’ Bars **

1 1/2 ’’ at 6’’ cts.

  Furnish in segments of 20 ft. maximum

length. Maximum space between installed

segments shall be  3/16 ’’.  Seal space with

Silicone Sealant suitable for Structural

Steel.

  Cut retainer bars in sidewalk or median

6" short of the sidewalk or median face.

 3/4 ’’ } x 8’’ Granular or solid flux filled

headed studs conforming to Article 1006.32

of the Std. Specs. automatically end welded

at 12’’ cts. Top and 24’’ cts. Bottom.

(200 Required)

SECTION THRU EXPANSION JOINT

148(BR-2)F

ILLINOIS ROUTE 78 OVER

MAUVAISE TERRE CREEK

F.A.P. 614 SEC. 148(BR-2)F

MORGAN COUNTY

STATION 16+34.85

STR. NO. 069-0005

THIS SHEET IS FOR

INFORMATION ONLY


	Text5: 11-16-07 Letting, Item 031


